WILLIAMSON COUNTY, TEXAS CHANGE ORDER NUMBER: __1_

1. CONTRACTOR:	Smith Contracti	ing		Project:	1512-037	
2. Change Order Work Limits: Sta.	to	Sta.	3+00	Roadway:	Forest North Drainage Improve	ments
3. Type of Change(on federal-aid non-exe	empt projects):		(Major/Minor)	Purchase Or Number:	der	
4. Reasons: 2E	(3 Max In order	of import	ance - Primary first)			
5. Describe the work being revised:						
Quantities adjusted due to differing site	conditions.					
 Work to be performed in accordance New or revised plan sheet(s) are atta 	-	aq.	N/A			
New Special Provisions to the contra		ou,	□ Yes ☑	No		
9. New Special Provisions to ItemN/	A No. N/A .S	pecial S	pecification Item N	I/A are att	ached.	
Each signatory hereby warrants that ea			•			
The contractor must sign the Change Order and, by o	loing so, agrees to waive		The following in	formation m	ıst be provided	
any and all claims for additional compensation due to expenses; additional changes for time, overhead and compensation as a result of this change	any and all other	Time I	Ext. #: N/A	Days a	dded on this CO:0	
THE CONTRACTOR Date	6-15-16	Amou	nt added by this char	ige order:	\$935.00	
By Harlin ly I VA	0					
Typed/Printed Name HARDIN C	CAMP II					
Typed/Printed Title VP						
RECOMMENDED FOR EXECUTION:						
10404			County Commi			Date
Project Manager Construction Observer	Date	□ AF	PROVED	□ REQUE	ST APPROVAL	
1, 1,			County Commi	ssioner Precir	ct 2	Date
Design Engineer	6 3 0 1 1 b Date	□ AF	PROVED	□ REQUE	ST APPROVAL	
10 (14	11		01-0			Det
Program Manager	7/1/1/L pate	□ AF	County Commi PROVED		ST APPROVAL	Date
Design Engineer's Seal:	12					
SOLUTE OF	EARCH	□ AF	County Commi PROVED		oct 4 ST APPROVAL	Date
KON Q.	***************************************	 APPRO		ty Judge	- A	Date

WILLIAMSON COUNTY, TEXAS CHANGE ORDER NUMBER: 1

1. CONTRACTOR;	Smith Contracti	ng		Project:	151	2-037	
2. Change Order Work Limits: Sta	1+00 to	Sta.	3+00	Roadway:	Forest North Drain	nage Improve	ments
3. Type of Change(on federal-aid non-exer	npt projects):	(Ma	ajor/Minor)	Purchase Or Number:	der		
4. Reasons: 2E	(3 Max In order of	of importance -	Primary first)				
Describe the work being revised: Quantitles adjusted due to differing site control	onditions.						
Work to be performed in accordance v	with Items: A				-		
 New or revised plan sheet(s) are attack New Special Provisions to the contract 		d: N/A	Yes 🖸	No			
9. New Special Provisions to Item N/A	No N/A , S		cation Item N	/A are atta	ached		
Each signatory hereby warrants that each	n has the authority	The second			The Market of the Control of the Con		
The contractor must sign the Change Order and, by do any and all claims for additional compensation due to a expenses, additional changes for time, overhead and pi compensation as a result of this change	ny and all other	Ti Time Ext. #:	-		ded on this CO:	0	
THE CONTRACTOR Date	6-15-16	Amount add	led by this chan	ge order:	\$93	15.00	w <u> </u>
By Harlin ly I VP							
Typed/Printed Name HARDIN CA	AMPII						
Typed/Printed Title VP			V-W-2004	Stopped County			
RECOMMENDED FOR EXECUTION:							
CUT-BUT 6 Project Manager Construction Observer	- 22-16 Date	D APPRO	County Commis VED		oct 1 ST APPROVAL		Date
Design Engineer)	3 o Î 1 b	□ APPRO	County Commis VED		ct 2 ST APPROVAL		Date
Program Manager	7/1/16 pale	□ APPRO	County Commis VED		oct 3 ST APPROVAL		Date
Design Engineer's Seal:	TEXTS	- APPRO	County Commis VED		oct 4 ST APPROVAL		Date
	1 * 1	Due	2 9	15	0	8-03-	
KON Q. K	1 34 10011 1111	APPROVED	Count	y Judge			Date

WILLIAMSON COUNTY, TEXAS

CHANGE ORDER NUMBER: 1

1512-037
#
Project i

TABLE A: Force Account Work and Materials Placed into Stock

LABOR	HOURLY RATE	HOURLY RATE

TABLE B: Contract Items

			, W	REVISED	ADD or (DEDUCT)	Ž	NEW	
DESCRIPTION	UNIT	UNIT PRICE	QUANTITY	ITEM COST	QUANTITY	QUANTITY	ITEM COST	OVERRUN/ UNDERRUN
CUT & RESTORING PAV	λS	\$200.00	31.00	\$6,200.00	00.0	31.00	\$6,200.00	80.00
CT C CONC (MISC)	ς	\$1,300.00	00'9	\$7,800.00	00.0	00'9	\$7,800.00	80.00
RIPRAP (CONC)(5 IN)	CY	\$800.00	9.00	\$7,200.00	00'0	9.00	\$7,200.00	\$0.00
CONC BOX CULV (4 FT X 2 FT)	LF	\$575.00	47.00	\$27,025.00	00:0	47.00	\$27,025.00	20.00
RC PIPE (CL III)(18 IN)	41	\$100.00	68.00	\$6,800.00	44.00	112.00	\$11,200.00	\$4,400,00
RC PIPE (CL III)(24 IN)	5	\$120.00	38.00	\$4,560.00	00.0	38.00	\$4,560,00	20.00
WINGWALL (PW - 1)(HW - 3FT)	EA	\$10.000.00	1,00	\$10,000.00	00'0	1.00	\$10,000.00	\$0.00
SET (TY IKS= 4FT)(HW = 3FT)(4:1)(P)	EA	\$6,000.00	3.00	\$18,000.00	00'0	3.00	\$18,000.00	\$0.00
SET (TY II)(18 INVIRCP)(4:1)(P)	EA	\$1,800.00	8.00	\$14,400.00	2.00	10.00	\$18,000.00	\$3,500.00
SET (TY II)(24 INKRCP)(4:1)(P)	EA	\$2,000.00	2.00	\$4,000.00	00.0	2.00	\$4,000.00	\$0.00
REMOVE STR (PIPE)	EA	\$2,700.00	1.00	\$2,700.00	0.00	1.00	\$2,700.00	\$0.00
MOBILIZATION	l cs	\$13,000.00	1.00	\$13,000.00	00:00	1,00	\$13,000.00	80.00
BARRICADES, SIGNS, AND TRAFFIC HANDLING	OW	\$5,000.00	1,50	\$7,500.00	00:0	1.50	\$7,500.00	\$0.00
DRIVEWAYS (CONC)	SY	00'06\$	93.00	\$8,370.00	24.00	117,00	\$10,530,00	\$2,160.00
CONC SIDEWALKS (5")	SY	\$100.00	9.00	00'006\$	00'0	00'6	\$300.00	\$0.00
MAILBOX INSTALL-S (TWG-POST) TY 1	EA	\$700.00	1.00	00'002\$	00:0	1.00	\$700.00	80,00
RELOCATE SM RD SN SUP & AM (SIGN ONLY)	EA	\$800.00	1,00	\$800.00	00:0	1.00	\$800.00	\$0.00
TREE REMOVAL (18" - 24" DIA)	EA	\$525.00	1.00	\$525.00	(1,00)	0.00	\$0.00	(\$525.00)
TREE PROTECTION	AC	00'000'6\$	0.10	\$900.00	(0.10)	0.00	00'0\$	(00:006\$)
FENCING (WOOD)	LF	\$40.00	195.00	\$7,800.00	(195.00)	00'0	\$0,00	(\$7,800.00)
	TOTALS			\$149,180.00			\$150,115,00	\$935.00

CHANGE ORDER REASON(S) CODE CHART

Design Error or Omission	1A. Incorrect PS&E
., Sough Enter of Officiation	1B. Other
	T. Said
2. Differing Site Conditions	2A. Dispute resolution (expense caused by conditions and/or resulting delay)
(unforeseeable)	2B. Unavailable material
(dinoresceable)	2C. New development (conditions changing after PS&E completed)
	2D. Environmental remediation
	2E. Miscellaneous difference in site conditions (unforeseeable)(Item 9)
	2F. Site conditions altered by an act of nature
	2G. Unadjusted utility (unforeseeable)
	2H. Unacquired Right-of-Way (unforeseeable)
	2I. Additional safety needs (unforeseeable)
	2J. Other
	EU. Othor
3. County Convenience	3A. Dispute resolution (not resulting from error in plans or differing site conditions)
J. Sounty Sonvenience	3B. Public relations improvement
	3C. Implementation of a Value Engineering finding
	3D. Achievement of an early project completion
	3E. Reduction of future maintenance
	3F. Additional work desired by the County
	3G. Compliance requirements of new laws and/or policies
	3H. Cost savings opportunity discovered during construction
	31. Implementation of improved technology or better process
	Price adjustment on finished work (price reduced in exchange for acceptance)
Ξ.	3K. Addition of stock account or material supplied by state provision 3K. Addition of stock account or material supplied by state provision
	3L. Revising safety work/measures desired by the County
	3M. Other
	Sivi, Other
Third Party Accommodation	4A. Failure of a third party to meet commitment
-, Time Larty Accommodation	4B. Third party requested work
	4C. Compliance requirements of new laws and/or policies (impacting third party)
	4D. Other
	TD, Valoi
5. Contractor Convenience	5A. Contractor exercises option to change the traffic control plan
J. Johnsold Gonvenience	5B. Contractor requested change in the sequence and/or method of work
	5C. Payment for Partnering workshop
	5D. Additional safety work/measures desired by the contractor
	5E. Other
	oc. ono
6. Untimely ROW/Utilities	6A. Right-of-Way not clear (third party responsibility for ROW)
o, ontimely Novviolinies	6B. Right-of-Way not clear (County responsibility for ROW)
	6C. Utilities not clear
	6D. Other
	po. Ono